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(10) (2 points each, 42 points total) Please provide the requested answer/data/reagents. If no
reaction is expected, write "NR".
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(t)
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(11) (12 points) Provide the best mechanism. Please show all arrow pushing.

CHs ® Hs
H — CHsMgBr H
3 CHa HaC S cn,

CHg CHg
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(12) (12 points) Provide a mechanism for the illustrated transformation. Please show all arrow pushing.

i, - X
Me” “OMe H® M OH
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(13) (12 points) The Henry reaction is a variant of the aldol condensation in which the conjugate base of a
nitroalkane is the nucleophile. Provide the best mechanism for this reaction. Please show all arrow
pushing.

NO»

base catalyst I

H + CH3NO;
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(14) (12 points). Provide a structure for M and a mechanism for its formation. Please show all arrow
pushing.

o)

hv H2
Pd/C
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(15) (14 points) Provide a mechanistic rationale for the reaction illustrated below.
Please show arrow pushing.

hv
M N

Me Me
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(18) (14 points) Provide the best mechanism. Please show alil arrow pushing.

H e
©/N\N/ Me cat. H ® Ny N

0 /Me

Me
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(17) (20 points total) For the following reaction:

|
X e
O/\© + BusSnH W O
_Me
(0]

(a) (6 points) Draw the initiation sequence. Please show arrow pushing.

(b) (14 points) Draw the propagation sequence. Please show arrow pushing.
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(18) (14 points) Provide the best mechanism. Please show all arrow pushing.

catalytic

® Q/ﬁ
H
Me)\Me + MeOJ\g/Me Me” “Me + Meojj/Me

NH,
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(19) (14 points) Provide a mechanism for the illustrated reaction that relies upon Cl serving as a neighboring
group. Please show all arrow pushing.

—2 A —

Cl FaC” “OH 0
CF,

enantiopure a strong acid enantiopure
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(20) (14 points) Provide the best mechanism. Please show all arrow pushing.
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Me OH ' ‘@ Me
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